SROCHTS T 1] 55— P 5 2

D\ 4

S N\ 2
>

%

- m = s e > = S fe g 1
SH= U H MK R AR R FHE 1 (AT CBR)
N K4 W4 [ L = T T W o= 1T
“\vyw FEQAMER) FEQNHIER MRS BRI LR N
O/ mRRELE BRI\ SHRmBHRSR
Sps o/ t——— <%§ .
> R e = 42
< — — H5
J % S —IIII I’ ll_\”] T gy RIS
o 26.1 ] p —
Il ] =S = [\ T ]
o y ASNUVA N = s E——
2 5y Ta0- e — 5
L) =ER & — —} 4 AEEYG =2 N
2 St/ 1 ~— 77 —H="5 i
NN [ mamSvE S S p=
47 — /7 1 — / / <
T AR /s 7] ] 7 7 D
17 7 4.9
/ R\ 4
> \ <
& 3.7
7 R
$&58 40
&
59
/)&%
s 3.7
e 5.5
B=TH

AT

JEAT IR
(s fE : 9 4. Oha)

e —

—

KR ES) 2 8HHAEAA 1 155, FH284FE7H19H

$=1:2500
1/ — E—
i ERGARMRIER RE LR ~ 8 0 25 50 100m
ZOMBE, FREHER 1,2, 50 OB (P2 7HEER) 2R L7260 THD, (2 8HMHALIES 85 -MMTAFFHE 2703975 -79) HEREZESD,



